Hydraulic Adapter Sleeves

OH 2332H 140 mm | 160 | M 160x3| 147 | 210 M6x1 KM 32 + MB 32 22332K, 23232K

OH 2332HL 140 mm | 160 | M 160x3 | 147 | 190 M6x1 KML 32 + MBL 32 C 3232K

OH 2334H 150 mm | 170 | M170x3| 154 | 220 M6x1 KM 34 + MB 34 22334K, 23234K

OH 2336H 160 mm | 180 | M 180x3| 161 | 230 M6x1 KM 36 + MB 36 22336K, 23236K, C 3236K
OH 2338H 170 mm | 190 | M 190x3| 169 | 240 M6x1 KM 38 + MB 38 22338K, 23238K

OH 2340H 180 mm | 200 | M200x3| 176 | 250 M6x1 KM 40 + MB 40 22340K, 23240K

OH 2344H 200 mm | 220 | Tr 220x4| 186 | 280 M6x1 2&:144 * MS 3144-MS 22344K, 23244K

OH 2344XH 200 mm | 220 | Tr 220x4) 186 | 280 M6x1 HM 44T + MB 44 22344K, 23244K

OH 2348H 220 mm | 240 | Tr 240x4| 199 | 300 M6x1 2&:148 * MS 3144-MS 22348K, 23248K

OH 2348XH 220 mm | 240 | Tr 240x4) 199 | 300 M6x1 HM 48T + MB 48 22348K, 23248K

OH 2352H 240 mm | 260 | Tr 260x4| 211 | 330 M6x1 I;JIT/;:lSZ + MS 3152-MS 22352K, 23252K

OH 2352XH 240 mm | 260 | Tr 260x4) 211 | 330 M6x1 HM 52T + MB 52 22352K, 23252K

OH 2356H 260 mm | 280 | Tr 280x4| 224 | 350 M6x1 2&:156 + MS 3152-MS 22356K, 23256K

OH 2356XH 260 mm | 280 |Tr 280x4) 224 | 350 M6x1 HM 56T + MB 56 22356K, 23256K

OH 3032H 140 mm | 160 | M 160x3| 93 190 M6x1 KML 32 + MBL 32 20232K, 23032K, C 3032K
OH 3034H 150 mm | 170 | M170x3| 101 | 200 M6x1 KML 34 + MBL 34 20234K, 23034K, C 3034K
OH 3036H 160 mm | 180 | M 180x3| 109 | 210 M6x1 KML 36 + MBL 36 2300233665’ 20336K, 23036K, C
OH 3038H 170 mm | 190 | M 190x3| 112 | 220 M6x1 KML 38 + MBL 38 230023388;' 20338K, 23038K, C
OH 3040H 180 mm | 200 | M 200x3| 120 | 240 M6x1 KML 40 + MBL 40 23002:(?5’ 20340K, 23040K, €
OH 3044H 200 mm | 220 | Tr 220x4) 126 | 260 M6x1 HM 3044 + MS 3044 23002:;;' 20344K, 23044K, C



HM 3048 + MS 3048-MS

20248K, 20348K, 23048K, C

OH 3048H 220 mm | 240 | Tr 240x4| 133 290 M6x1 3052 3048K
OH 3052H 240 mm | 260 |Tr 260x4| 145 | 310 M6x1 2(')\/;;052 + MS 3048-MS 20252K, 23052K, C 3052K
OH 3056H 260 mm | 280 |Tr 280x4| 152 | 330 M6x1 HM 3056 + MS 3056 20256K, 23056K, C 3056K
OH 3060H 280 mm | 300 |Tr 300x4| 168 | 360 M6x1 HM 3060 + MS 3060 23060K, C 3060K
OH 3064H 300 mm | 320 | Tr 320x5| 171 | 380 M6éx1 g(')\:lsg 064+ MS 3064-MS 23064K, C 3064K
OH 3068H 320 mm | 340 |Tr 340x5| 187 | 400 M6x1 232;068 + MS 3064-MS 23068K, C 3068K
OH 3072H 340 mm | 360 | Tr 360x5) 188 | 420 M6x1 HM 3072 + MS 3072 23072K, C 3072K
OH 3076H 360 mm | 380 |Tr 380x5| 193 | 450 M6x1 2(')\;'35076 + MS 3076-MS 23076K, C 3076K
OH 3080H 380 mm | 400 | Tr400x5| 210 | 470 M6éx1 g(')\fgg 080 + MS 3076-MS 23080K, C 3080K
OH 3084H 400 mm | 420 |Tr420x5| 212 | 490 M6x1 HM 3084 + MS 3084 23084K, C 3084K

Code di d G | Dm G1 S GIREE AT DeViceUBearings

mm mm mm | mm

OH 3088H 410 mm | 440 | Tr 440x5| 228 520 M8x1,25 ;I)\g;OSS - M§ 3088-MS 23088K
OH 3088HE 410 mm | 440 |Tr 440x5| 228 | 520 M8x1,25 gggg 3088 + MS 3088-MS C 3088K
OH 3092H 430 mm | 460 | Tr 460x5| 234 | 540 M8x1,25 g(l)\g;OQZ * MS 3088-MS 23092K, C 3092K
OH 3096H 450 mm | 480 | Tr 480x5| 237 | 560 M8x1,25 |HM 3096 + MS 3096-30/500 |23096K, C 3096K
OH 30/500H 470 mm | 500 | Tr500x5| 247 | 580 M8x1,25 ;I)\;ISZSC())ISOO + MS 3096- 230/500K, C 30/500K
OH 30/530H 500 mm | 530 |Tr530x6| 265 | 630 M8x1,25 |HM 30/530 + MS 30/530-600 |230/530K, C 30/530K
OH 30/560H 530 mm | 560 |Tr 560x6| 282 | 650 M8x1,25 |HM 30/560 + MS 30/560 230/560K, C 30/560K
OH 30/600H 560 mm | 600 | Tr 600x6| 289 700 |G1/8"x28FPP|HM 30/600 + MS 30/530-600 |230/600K, C 30/600K
OH 30/630H 600 mm | 630 |Tr 630x6| 301 | 730 M8x1,25 |HM 30/630 + MS 30/630 230/630K, C 30/630K
OH 30/670H 630 mm | 670 |Tr 670x6| 324 | 780 |G1/8"x28FPP|HM 30/670 + MS 30/670 230/670K, C 30/670K
OH 30/710H 670 mm | 710 | Tr 710x7| 342 830 |G1/8"x28FPP|HM 30/710 + MS 30/710 230/710K, C 30/710K
OH 30/750H 710 mm | 750 | Tr 750x7 ] 356 870 |G1/8"x28FPPJHM 30/750 + MS 30/750-800 |230/750K
OH 30/750HE 710 mm | 750 | Tr 750x7| 356 | 870 |G1/8"x28FPP ;I)\:I)E S0/750 + MS 30/750- C 30/750K
OH 30/800H 750 mm | 800 | Tr 800x7| 366 920 |G1/8"x28FPPJHM 30/800 + MS 30/750-800 |230/800K
OH 30/800HE 750 mm | 800 |Tr 800x7| 366 | 920 |G1/8"x28FPP :(')\?)E 30/800 + MS 30/750- C 30/800K
OH 30/850H 800 mm | 850 | Tr 850x7| 380 980 |G1/8"x28FPPJHM 30/850 + MS 30/850-900 |230/850K
OH 30/850HE 800 mm | 850 |Tr 850x7| 380 | 980 |G1/8"x28FPP :(')\?)E 30/850 + MS 30/850- C 30/850K
OH 30/900H 850 mm | 900 | Tr 900x7| 400 | 1030 |G1/8"x28FPP|HM 30/900 + MS 30/850-900 |230/900K, C 30/900K
OH 30/900HE 850 mm | 900 | Tr 900x7 | 400 | 1030 |G1/8"x28FPPJHM 30/900 + MS 30/850-900 |C 30/900K
OH 30/950H 900 mm | 950 | Tr 950x8| 420 | 1080 |G1/8"x28FPP|HM 30/950 + MS 30/950 230/950K
OH 30/950HE 900 mm | 950 | Tr 950x8| 420 | 1080 |G1/8"x28FPPJHME 30/950 + MS 30/950  |C 30/950K




Tr

OH 30/1000H 950 mm | 1000 1000x8 430 | 1140 |G1/8"x28FPP|HM 30/1000 + MS 30/1000 }230/1000K
OH 30/1000HE | 950 mm | 1000 10-£E)x8 430 | 1140 |G1/8"x28FPP|HME 30/1000 + MS 30/1000 |C 30/1000K
OH 30/1060H 1000 mm | 1060 lO-grOXB 447 | 1200 |G1/4"x19FPPJ|HM 30/1060 + MS 30/1000 |230/1060K
OH 3132H 140 mm | 160 | M 160x3| 119 | 210 M6x1 KM 32 + MB 32 20332K, 22232K, 23132K
OH 3132HE 140 mm | 160 | M 160x3 | 119 210 M6x1 KMFE 32 C 3132K
OH 3132HL 140 mm | 160 | M 160x3| 119 | 190 M6x1 KML 32 + MBL 32 20332K, 22232K, 23132K
OH 3134H 150 mm | 170 | M 170x3 | 122 220 M6x1 KM 34 + MB 34 20334K, 22234K, 23134K
OH 3134HL 150 mm | 170 | M 170x3| 122 200 M6x1 KML 34 + MBL 34 C 2234K, C 3134K
OH 3136H 160 mm | 180 | M 180x3 | 131 230 M6x1 KM 36 + MB 36 22236K, 23136K

Code di d G | Dm Gl Locknut + Locking DeViceUBearings

mm mm mm | mm

OH 3136HL 160 mm | 180 | M 180x3| 131 | 210 M6x1 KML 36 + MBL 36 C 3136K
OH 3138H 170 mm | 190 | M 190x3 | 141 240 M6x1 KM 38 + MB 38 22238K, 23138K, C 2238K
OH 3138HL 170 mm | 190 | M 190x3| 141 220 M6x1 KML 38 + MBL 38 C 3138K
OH 3140H 180 mm | 200 | M 200x3 | 150 250 M6x1 KM 40 + MB 40 22240K, 23140K, C 3140K
OH 3140HL 180 mm | 200 | M 200x3| 150 | 240 M6x1 KML 40 + MBL 40 22240K, 23140K, C 3140K
OH 3144H 200 mm | 220 | Tr 220x4| 161 280 M6x1 gjl_\i:l44 + MS 3144-MS 22244K, 23144K, C 2244K
OH 3144HTL 200 mm | 220 |Tr 220x4| 156 260 M6x1 HM 3044 + MS 3044 C 3144K
OH 3144XH 200 mm | 220 | Tr 220x4| 161 280 M6x1 HM 44T + MB 44 22244K, 23144K
OH 3148H 220 mm | 240 |Tr 240x4| 172 | 300 M6x1 gm: 148 + MS 3144-MS 22248K, 23148K
OH 3148HTL 220 mm | 240 | Tr 240x4| 169 290 M6x1 2(')\/;;048 + MS 3048-MS C 3148K
OH 3148XH 220 mm | 240 |Tr 240x4| 172 | 300 M6x1 HM 48T + MB 48 22248K, 23148K
OH 3152H 240 mm | 260 | Tr 260x4| 190 330 M6x1 2]'_\/;2152 + MS 3152-MS 22252K, 23152K
OH 3152HTL 240 mm | 260 |Tr 260x4| 185 | 310 M6x1 ;')VEI);OSZ * MS 3048-MS C 3152K
OH 3152XH 240 mm | 260 | Tr 260x4| 190 330 M6x1 HM 52T + MB 52 22252K, 23152K
OH 3156H 260 mm | 280 |Tr 280x4| 195 | 350 M6x1 21'\/&_[:156 * MS 3152-MS 22256K, 23156K
OH 3156HTL 260 mm | 280 | Tr 280x4| 192 330 M6x1 HM 3056 + MS 3056 C 3156K
OH 3156XH 260 mm | 280 | Tr 280x4| 195 350 M6x1 HM 56T + MB 56 22256K, 23156K
OH 3160H 280 mm | 300 |Tr 300x4| 208 | 380 M6x1 HM 3160 + MS 3160 22260K, 23160K, C 3160K
OH 3160HTL 280 mm | 300 | Tr 300x4| 208 360 M6x1 HM 3060 + MS 3060 22260K, 23160K, C 3160K
OH 3164H 300 mm | 320 | Tr 320x5) 226 | 400 M6x1 HM 3164 + MS 3164 22264K, 23164K, C 3164K
OH 3164HTL 300 mm | 320 | Tr 320x5| 226 380 M6x1 2&:064 * MS 3064-MS 22264K, 23164K, C 3164K
OH 3168H 320 mm | 340 | Tr 340x5) 254 | 440 M6x1 HM 3168 + MS 3168-MS 23168K, C 3168K

3172




HM 3068 + MS 3064-MS

OH 3168HTL 320 mm | 340 | Tr 340x5) 244 | 400 M6x1 3068 23168K, C 3168K
OH 3172H 340 mm | 360 [ Tr 360x5] 259 | 460 M6x1 21'\/7';172 + MS 3168-MS 23172K, C 3172K
OH 3172HTL 340 mm | 360 | Tr 360x5) 246 | 420 M6x1 HM 3072 + MS 3072 23172K, C 3172K
OH 3172HE 340 mm | 360 | Tr 360x5] 259 | 460 M6x1 glw;g 3172 + MS 3168-MS 23172K, C 3172K
OH 3176H 360 mm | 380 | Tr 380x5) 264 | 490 M6x1 HM 3176 + MS 3176 23176K
OH 3176HTL 360 mm | 380 | Tr 380x5] 252 | 450 M6x1 2(')\25076 + MS 3076-MS 23176K
OH 3176HE 360 mm | 380 | Tr 380x5) 264 | 490 M6x1 HME 3176 + MS 3176 C 3176K
OH 3180H 380 mm | 400 | Tr 400x5) 272 | 520 M6x1 21\232180 + MS 3180-MS 23180K, C 3180K

Code di d G | Dm Gl Lo TAITE 2 el T I:)EViCQUBearings

mm mm mm | mm

OH 3180HTL 380 mm | 400 | Tr 400x5| 262 | 470 M6x1 ;l)\ggoso - MWG-MS 23180K, C 3180K
OH 3180HE 380 mm | 400 | Tr 400x5] 272 | 520 M6x1 ;’L\gli 3180 + MS 3180-MS C 3180K
OH 3184H 400 mm | 420 | Tr 420x5| 304 | 540 M6x1 ;’22184 * MS 3180-MS 23184K, C 3184K
OH 3184HTL 400 mm | 420 | Tr 420x5) 286 | 490 M6x1 HM 3084 + MS 3084 23184K, C 3184K
OH 3188H 410 mm | 440 | Tr 440x5| 307 560 M8x1,25 ;’g;lss * MS 3188-MS 23188K
OH 3188HTL 410 mm | 440 |Tr 440x5] 297 520 M8x1,25 gcl)\/sla23088 + MS 3088-MS 23188K
OH 3188HE 410 mm | 440 | Tr 440x5| 307 560 M8x1,25 ;’fgg 3188 + MS 3188-MS C 3188K
OH 3192H 430 mm | 460 | Tr 460x5) 326 | 580 M8x1,25 2:{\/;3192 + MS 3188-MS 23192K, C 3192K
OH 3192HTL 430 mm | 460 | Tr 460x5| 311 540 M8x1,25 ;I)\g;OQZ * MS 3088-MS 23192K, C 3192K
OH 3196H 450 mm | 480 | Tr 480x5| 335 620 M8x1,25 |HM 3196 + MS 3196 23196K
OH 3196HTL 450 mm | 480 | Tr 480x5] 320 | 560 M8x1,25 |HM 3096 + MS 3096-30/500 |23196K
OH 3196HE 450 mm | 480 | Tr 480x5|] 335 620 M8x1,25 |JHME 3196 + MS 3196 C 3196K
OH 31/500H 470 mm | 500 | Tr 500x5) 356 | 630 M8x1,25 |HM 31/500 + MS 31/500 231/500K, C 31/500K
OH 31/500HTL 470 mm | 500 | Tr 500x5| 344 | 580 M8x1,25 2375%%/500 * MS 3096- 231/500K, C 31/500K
OH 31/530H 500 mm | 530 | Tr530x6) 364 | 670 M8x1,25 |HM 31/530 + MS 31/530 gi/zslggi}( 231/530K, €
OH 31/530HTL 500 mm | 530 | Tr 530x6| 352 630 M8x1,25 |HM 30/530 + MS 30/530-600 ;i/zéggg( 231/530K, €
OH 31/560H 530 mm | 560 [Tr 560x6| 377 | 710 M8x1,25 |HM 31/560 + MS 31/560-600 |222/560K, 231/560K
OH 31/560HTL 530 mm | 560 | Tr 560x6| 368 650 M8x1,25 |HM 30/560 + MS 30/560 222/560K, 231/560K
OH 31/560HE 530 mm | 560 [Tr 560x6| 377 | 710 M8x1,25 :(I)\gE 31/560 + MS 31/560- C 31/560K
OH 31/600H 560 mm | 600 | Tr 600x6| 399 750 |G1/8"x28FPP|HM 31/600 + MS 31/560-600 |222/600K, 231/600K
OH 31/600HTL 560 mm | 600 | Tr 600x6| 389 | 700 |G1/8"x28FPP|HM 30/600 + MS 30/530-600 |222/600K, 231/600K
OH 31/600HE 560 mm | 600 | Tr 600x6| 399 750 |G1/8"x28FPP g(l)\/(l)E ARSI C 31/600K
OH 31/630H 600 mm | 630 |Tr 630x6| 424 | 800 M8x1,25 |HM 31/630 + MS 31/630 222/630K, 231/630K




OH 31/630HTL

OH 31/630HE

OH 31/670H

OH 31/670HTL

OH 31/670HE

OH 31/710H

OH 31/710HTL

Code

OH 31/710HE

OH 31/750H

OH 31/750HTL

OH 31/750HE

OH 31/800H

OH 31/800HTL

OH 31/800HE

OH 31/850H

OH 31/850HTL

OH 31/850HE

OH 31/900H

OH 31/900HTL

OH 31/950H

OH 31/950HTL

OH 31/1000H

OH 31/1000HTL

OH 31/1000HE

OH 31/1060H

OH 31/1060HTL

OH 3260H

OH 3264H

OH 3268H

OH 3272H

OH 3276H

600 mm | 630 | Tr 630x6) 424 | 730 M8x1,25 |HM 30/630 + MS 30/630 222/630K, 231/630K
600 mm | 630 |Tr 630x6| 424 | 800 M8x1,25 |HME 31/630 + MS 31/630 |C 31/630K
630 mm | 670 | Tr 670x6| 456 850 |G1/8"x28FPP|HM 31/670 + MS 31/670 222/670K, 231/670K
630 mm | 670 |Tr 670x6| 456 | 780 |G1/8"x28FPP|HM 30/670 + MS 30/670 222/670K, 231/670K
630 mm | 670 | Tr 670x6| 456 850 |G1/8"x28FPP|{HME 31/670 + MS 31/670 C 31/670K
670 mm | 710 |Tr 710x7| 467 900 |G1/8"x28FPP|HM 31/710 + MS 31/710 222/710K, 231/710K
670 mm | 710 | Tr 710x7| 467 830 |G1/8"x28FPP|HM 30/710 + MS 30/710 222/710K, 231/710K

a1 d G | Dm G1 Locknut + Locking DeViceUBearings

mm mm mm | mm

670 mm | 710 |Tr 710x7| 467 900 |G1/8"x28FPP|HM 31/710 + MS 31/710 C 31/710K
710 mm | 750 | Tr 750x7 | 493 950 |G1/8"x28FPP|HM 31/750 + MS 31/750-800 |222/750K, 231/750K
710 mm | 750 | Tr 750x7| 493 870 |G1/8"x28FPP|HM 30/750 + MS 30/750-800 |222/750K, 231/750K
710 mm | 750 | Tr 750x7 ] 493 950 |G1/8"x28FPP :(%E SR C 31/750K
750 mm | 800 | Tr 800x7| 505 | 1000 |G1/8"x28FPP|HM 31/800 + MS 31/750-800 |222/800K, 231/800K
750 mm | 800 | Tr 800x7| 505 | 920 |G1/8"x28FPP|HM 30/800 + MS 30/750-800 |222/800K, 231/800K
750 mm | 800 |Tr 800x7| 505 | 1000 |G1/8"x28FPP ;'(')\?)E 31/800 + MS 31/750- C 31/800K
800 mm | 850 |Tr 850x7| 536 | 1060 |G1/8"x28FPP|HM 31/850 + MS 31/850 222/850K, 231/850K
800 mm | 850 | Tr 850x7| 536 | 980 |G1/8"x28FPP|HM 30/850 + MS 30/850-900 |222/850K, 231/850K
800 mm | 850 |Tr 850x7| 536 | 1060 |G1/8"x28FPP|HME 31/850 + MS 31/850  |C 31/850K
850 mm | 900 |Tr 900x7| 557 | 1120 |G1/8"x28FPP|HM 31/900 + MS 31/900 222/900K, 231/900K
850 mm | 900 | Tr 900x7| 557 | 1030 |G1/8"x28FPP|HM 30/900 + MS 30/850-900 |222/900K, 231/900K
900 mm | 950 | Tr 950x8| 583 | 1170 |G1/8"x28FPP|HM 31/950 + MS 31/950 222/950K, 231/950K
900 mm | 950 | Tr 950x8| 583 | 1080 |G1/8"x28FPP|HM 30/950 + MS 30/950 222/950K, 231/950K
950 mm | 1000 10-5;)( 8 609 | 1240 |G1/8"x28FPP|HM 31/1000 + MS 31/1000 |222/1000K, 231/1000K
950 mm | 1000 1 O-g:)x 8 609 | 1140 |G1/8"x28FPP|HM 30/1000 + MS 30/1000 [222/1000K, 231/1000K
950 mm | 1000 10-5;)( 8 609 | 1240 |G1/8"x28FPP|HME 31/1000 + MS 31/1000 |C 31/1000K
1000 mm | 1060 10;[))(8 622 | 1300 |G1/8"x28FPP|HM 31/1060 + MS 31/1000 |222/1060K, 231/1060K
1000 mm | 1060 10;;)(8 622 | 1200 |G1/8"x28FPP|HM 30/1060 + MS 30/1000 [222/1060K, 231/1060K
280 mm | 300 |Tr 300x4| 240 | 380 M6x1 HM 3160 + MS 3160 22360K, 23260K
300 mm | 320 | Tr 320x5| 258 | 400 M6x1 HM 3164 + MS 3164 22364K, 23264K
320 mm | 340 | Tr 340x5) 288 | 440 M6x1 21'\/7';168 + MS 3168-MS 22368K, 23268K
340 mm | 360 | Tr 360x5| 299 | 460 M6x1 ;']'_\/7';172 * MS 3168-MS 22372K, 23272K
360 mm | 380 | Tr 380x5] 310 | 490 M6x1 HM 3176 + MS 3176 22376K, 23276K




OH 3280H 380 mm | 400 | Tr400x5) 328 | 520 M6x1 IS-)|:ILVSI3218O * MS 3180-MS 22380K, 23280K
OH 3284H 400 mm | 420 | Tr 420x5) 352 | 540 M6x1 21'\22184 + MS 3180-MS 22384K, 23284K
OH 3288H 410 mm | 440 | Tr 440x5| 361 560 M8x1,25 ;’g;lsg * MS 3188-MS 22388K, 23288K
OH 3292H 430 mm | 460 | Tr 460x5) 382 | 580 M8x1,25 2;:;;192 + MS 3188-MS 22392K, 23292K
OH 3296H 450 mm | 480 | Tr 480x5| 397 620 M8x1,25 |HM 3196 + MS 3196 22396K, 23296K
OH 32/500H 470 mm | 500 | Tr 500x5) 428 | 630 M8x1,25 |JHM 31/500 + MS 31/500 223/500K, 232/500K

Code di d G | Dm Gl Lo TAITE 2 el T I:)EViCQUBearings

mm mm mm | mm

OH 32/530H 500 mm | 530 | Tr530x6| 447 | 670 M8x1,25 |HM 31/530 + MS 31/530 223/530K, 232/530K
OH 32/560H 530 mm | 560 [ Tr 560x6| 462 | 710 M8x1,25 |JHM 31/560 + MS 31/560-600 |223/560K, 232/560K
OH 32/600H 560 mm | 600 |Tr 600x6| 487 | 750 |G1/8"x28FPP|HM 31/600 + MS 31/560-600 |223/600K, 232/600K
OH 32/630H 600 mm | 630 | Tr630x6] 521 | 800 M8x1,25 |HM 31/630 + MS 31/630 223/630K, 232/630K
OH 32/670H 630 mm | 670 | Tr 670x6| 558 | 850 |G1/8"x28FPP|HM 31/670 + MS 31/670 223/670K, 232/670K
OH 32/710H 670 mm | 710 | Tr 710x7| 572 900 |G1/8"x28FPP|HM 31/710 + MS 31/710 223/710K, 232/710K
OH 32/750H 710 mm | 750 |Tr 750x7| 603 | 950 |G1/8"x28FPP|HM 31/750 + MS 31/750-800 |223/750K, 232/750K
OH 32/800H 750 mm | 800 | Tr 800x7| 618 | 1000 |G1/8"x28FPP|HM 31/800 + MS 31/750-800 |232/800K
OH 32/850H 800 mm | 850 | Tr 850x7| 651 | 1060 |G1/8"x28FPP|HM 31/850 + MS 31/850 232/850K
OH 32/900H 850 mm | 900 | Tr 900x7| 660 | 1120 |G1/8"x28FPP|HM 31/900 + MS 31/900 232/900K
OH 32/950H 900 mm | 950 | Tr 950x8| 675 | 1170 |G1/8"x28FPP|HM 31/950 + MS 31/950 232/950K
OH 32/1000H 950 mm | 1000 lO-g:)x8 707 | 1240 |G1/8"x28FPPJHM 31/1000 + MS 31/1000 |232/1000K
OH 3932H 140 mm | 160 | M 160x3| 78 190 M6x1 KML 32 + MBL 32 23932K
OH 3934H 150 mm | 170 | M 170x3| 79 200 M6x1 KML 34 + MBL 34 23934K
OH 3936H 160 mm | 180 | M 180x3| 87 210 M6x1 KML 36 + MBL 36 23936K
OH 3938H 170 mm | 190 | M 190x3| 89 220 M6x1 KML 38 + MBL 38 23938K
OH 3940H 180 mm | 200 | M 200x3 | 98 240 M6x1 KML 40 + MBL 40 23940K
OH 3944H 200 mm | 220 | Tr 220x4| 96 260 M6x1 HM 3044 + MS 3044 23944K
OH 3948H 220 mm | 240 |Tr 240x4)] 101 | 290 M6x1 23/&_');048 * MS 3048-MS 23948K
OH 3952H 240 mm | 260 | Tr 260x4| 116 310 M6x1 20'\/;;052 + MS 3048-MS 23952K
OH 3956H 260 mm | 280 |Tr 280x4|] 121 | 330 M6x1 HM 3056 + MS 3056 23956K
OH 3960H 280 mm | 300 | Tr 300x4| 140 360 M6x1 HM 3060 + MS 3060 23960K
OH 3964H 300 mm | 320 | Tr 320x5] 140 | 380 M6x1 232:064 * MS 3064-MS 23964K
OH 3968H 320 mm | 340 | Tr 340x5) 144 | 400 M6x1 2(')\2:068 + MS 3064-MS 23968K
OH 3972H 340 mm | 360 | Tr 360x5) 144 | 420 M6x1 HM 3072 + MS 3072 23972K




OH 3972HE 340 mm | 360 | Tr 360x5) 144 | 420 M6x1 HME 3072 + MS 3072 C 3972K
OH 3976H 360 mm | 380 | Tr380x5| 164 | 450 M6x1 2()M8(:)3076 * MS 3076-MS 23976K, C 3976K
OH 3976HE 360 mm | 380 | Tr 380x5) 164 | 450 M6x1 23?3% 3076 + MS 3076-MS C 3976K
OH 3980H 380 mm | 400 | Tr400x5| 168 | 470 M6x1 20M8(:)3 080 + MS 3076-MS 23980K
OH 3980HE 380 mm | 400 | Tr400x5) 168 | 470 M6x1 23?3% 3080 + MS 3076-MS C 3980K

Code di d G | Dm Gl Locknut + Locking DeViceUBearings

mm mm mm | mm

OH 3984H 400 mm | 420 | Tr420x5| 168 | 490 M6x1 HM 3084 + MS 3084 23984K
OH 3984HE 400 mm | 420 | Tr 420x5) 168 | 490 M6x1 HME 3084 + MS 3084 C 3984K
OH 3988H 410 mm | 440 | Tr 440x5| 189 | 520 M8x1,25 E(I)VSI); 088 + MS 3088-MS 23988K
OH 3988HE 410 mm | 440 | Tr 440x5|] 189 520 M8x1,25 gggg 3088 + MS 3088-MS C 3988K
OH 3992H 430 mm | 460 | Tr460x5| 189 | 540 M8x1,25 2(')\223 092 + MS 3088-MS 23992K
OH 3992HE 430 mm | 460 | Tr460x5] 189 | 540 M8x1,25 gggg 3092 + MS 3088-MS C 3992K
OH 3996H 450 mm | 480 | Tr 480x5| 200 | 560 M8x1,25 |HM 3096 + MS 3096-30/500 |23996K, C 3996K
OH 3996HE 450 mm | 480 | Tr 480x5| 200 | 560 M8x1,25 g(l)\;l;iogo% + MS 3096- 23996K, C 3996K
OH 39/500H 470 mm | 500 | Tr500x5| 208 | 580 M8x1,25 2(')\75%%/500 + MS 3096- 239/500K
OH 39/500HE 470 mm | 500 | Tr500x5] 208 | 580 M8x1,25 g(l)\;f 030/500 + MS 3096- C 39/500K
OH 39/530H 500 mm | 530 |Tr530x6| 216 | 630 M8x1,25 |HM 30/530 + MS 30/530-600 |239/530K
OH 39/530HE 500 mm | 530 |Tr530x6| 216 | 630 M8x1,25 E(I)\EI)E 30/530 + MS 30/530- C 39/530K
OH 39/560H 530 mm | 560 |Tr560x6| 227 | 650 M8x1,25 |HM 30/560 + MS 30/560 239/560K
OH 39/560HE 530 mm | 560 |Tr560x6| 227 | 650 M8x1,25 |HME 30/560 + MS 30/560  |C 39/560K
OH 39/600H 560 mm | 600 | Tr 600x6| 239 | 700 |G1/8"x28FPP|HM 30/600 + MS 30/530-600 |239/600K
OH 39/600HE 560 mm | 600 |Tr 600x6| 239 | 700 |G1/8"x28FPP E(I)\EI)E 30/600 + MS 30/530- C 39/600K
OH 39/630H 600 mm | 630 |Tr 630x6| 254 | 730 M8x1,25 |HM 30/630 + MS 30/630 239/630K
OH 39/630HE 600 mm | 630 |Tr 630x6| 254 | 730 M8x1,25 |HME 30/630 + MS 30/630  |C 39/630K
OH 39/670H 630 mm | 670 |Tr 670x6| 264 | 780 |G1/8"x28FPP|HM 30/670 + MS 30/670 239/670K, C 39/670K
OH 39/670HE 630 mm | 670 |Tr 670x6| 264 | 780 |G1/8"x28FPP|HM 30/670 + MS 30/670 C 39/670K
OH 39/710H 670 mm | 710 | Tr 710x7| 286 830 |G1/8"x28FPP|HM 30/710 + MS 30/710 239/710K
OH 39/710HE 670 mm | 710 | Tr 710x7| 286 830 |G1/8"x28FPP|{HME 30/710 + MS 30/710 C 39/710K
OH 39/750H 710 mm | 750 | Tr 750x7 )| 291 870 |G1/8"x28FPP|HM 30/750 + MS 30/750-800 |239/750K
OH 39/750HE 710 mm | 750 | Tr 750x7] 291 870 |G1/8"x28FPP :(')\EI)E S LS EUTET C 39/750K
OH 39/800H 750 mm | 800 | Tr 800x7| 303 920 |G1/8"x28FPP|HM 30/800 + MS 30/750-800 |239/800K
OH 39/800HE 750 mm | 800 |Tr 800x7| 303 | 920 |G1/8"x28FPP HME 30/800 + MS 30/750- C 39/800K

800




OH 39/850H

OH 39/850HE

OH 39/900H

OH 39/900HE

Code

OH 39/950H

OH 39/950HE

OH 39/1000H

OH 39/1060H

OH 39/1060HE

OH 39/1120H

OHA 2332H

OHA 2334H

OHA 2336H

OHA 2338H

OHA 2340H

OHA 2344H

OHA 2344XH

OHA 2348H

OHA 2352H

OHA 2356H

OHA 2356XH

OHA 3032H

OHA 3034H

OHA 3036H

OHA 3038H

OHA 3040H

OHA 3044H

OHA 3048H

OHA 3052H

OHA 3056H

OHA 3060H

800 mm | 850 | Tr 850x7| 308 | 980 |G1/8"x28FPP|HM 30/850 + MS 30/850-900 |239/850K
800 mm | 850 | Tr 850x7| 308 | 980 |G1/8"x28FPP g(l)\él)E 30/850 + MS 30/850- C 39/850K
850 mm | 900 | Tr 900x7| 326 | 1030 |G1/8"x28FPP|HM 30/900 + MS 30/850-900 |239/900K
850 mm | 900 | Tr 900x7| 326 | 1030 |G1/8"x28FPP S(I)V(I)E 30/900 + MS 30/850- C 39/900K
a1 d G | Dm Gl Locknut + Locking DeviceuBearings
mm mm mm | mm
900 mm | 950 | Tr 950x8| 344 | 1080 |G1/8"x28FPP|HM 30/950 + MS 30/950 239/950K
900 mm | 950 | Tr 950x8| 344 | 1080 |G1/8"x28FPP|HME 30/950 + MS 30/950 C 39/950K
950 mm | 1000 10;:)x8 358 | 1140 |G1/8"x28FPP|HM 30/1000 + MS 30/1000 [239/1000K
1000 mm | 1060 1O1E;r0x8 372 | 1200 |G1/4"x19FPPJHM 30/1060 + MS 30/1000 }239/1060K
1000 mm | 1060 102[)x8 372 | 1200 |G1/4"x19FPP|HME 30/1060 + MS 30/1000 |C 39/1060K
1060 mm | 1120 1112—£)x8 372 | 1260 |G1/4"x19FPPJHM 30/1120 + MS 30/1000 }239/1120K
5.7/16" 160 | M 160x3 | 147 210 M6x1 KM 32 + MB 32 22332K, 23232K
5.15/16" | 170 | M 170x3 | 154 | 220 M6x1 KM 34 + MB 34 22334K, 23234K
6.7/16" 180 | M 180x3 | 161 | 230 M4x0,7 KM 36 + MB 36 22336K, 23236K, C 3236K
6.15/16" | 190 | M 190x3 | 169 | 240 M4x0,7 KM 38 + MB 38 22338K, 23238K
7.3/16" 200 | M 200x3| 176 250 M4x0,7 KM 40 + MB 40 22340K, 23240K
7.15/16" | 220 | Tr 220x4| 186 | 280 M4x0,7 2&:144 + MS 3144-MS 22344K, 23244K
7.15/16" | 220 | Tr 220x4| 186 280 M4x0,7 HM 44T + MB 44 22344K, 23244K
8.7/16" 240 | Tr 240x4| 199 300 M6x1 2:3183148 + MS 3144-MS 22348K, 23248K
9.7/16" 260 | Tr 260x4| 211 330 M6x1 g;g:lsz * MS 3152-MS 22352K, 23252K
10.7/16" | 280 | Tr 280x4| 224 | 350 M4x0,7 ;’2;156 + MS 3152-MS 22356K, 23256K
10.7/16" | 280 | Tr 280x4| 224 | 350 M4x0,7 HM 56T + MB 56 22356K, 23256K
5.7/16" 160 | M 160x3 | 93 190 M6x1 KML 32 + MBL 32 20232K, 23032K, C 3032K
5.15/16" | 170 | M 170x3 | 101 200 M6x1 KML 34 + MBL 34 20234K, 23034K, C 3034K
6.7/16" 180 | M 180x3 | 109 210 M4x0,7 KML 36 + MBL 36 2300233665’ 20336K, 23036K, C
6.15/16" | 190 | M 190x3 | 112 | 220 M4x0,7 KML 38 + MBL 38 230023388;’ 20338K, 23038K, C
7.3/16" 200 | M 200x3 | 120 240 M4x0,7 KML 40 + MBL 40 23002:00}5’ 20340K, 23040K, C
7.15/16" | 220 | Tr 220x4| 126 | 260 M4x0,7 HM 3044 + MS 3044 23002;;;’ 20344K, 23044K, C
8.7/16" 240 |1 240xal| 133 290 M6x1 2(;\/;;3048 + MS 3048-MS 23002:88}2(, 20348K, 23048K, C
9.7/16" 260 | Tr 260x4| 145 | 310 M6x1 2(!)\/;);052 * MS 3048-MS 20252K, 23052K, C 3052K
10.7/16" | 280 | Tr 280x4| 152 330 M4x0,7 HM 3056 + MS 3056 20256K, 23056K, C 3056K
10.15/16" | 300 | Tr 300x4| 168 | 360 M6x1 HM 3060 + MS 3060 23060K, C 3060K




OHA 3068H 12.7/16" | 340 | Tr 340x5) 187 | 400 M6x1 3068 23068K, C 3068K
OHA 3072H 13.7/16" | 360 | Tr360x5| 188 | 420 M4x0,7  |HM 3072 + MS 3072 23072K, C 3072K
OHA 3076H 13.15/16" | 380 | Tr 380x5| 193 | 450 M6x1 23?303076 + MS 3076-MS 23076K, C 3076K

Code di d G | Dm Gl Locknut + Locking DeViceUBearings

mm mm mm | mm

OHA 3132H 5.7/16" | 160 | M 160x3| 119 | 210 M6x1 KM 32 + MB 32 20332K, 22232K, 23132K
OHA 3132HL 5.7/16" 160 | M 160x3 | 119 190 M6x1 KML 32 + MBL 32 20332K, 22232K, 23132K
OHA 3134H 5.15/16" | 170 | M 170x3 | 122 220 M6x1 KM 34 + MB 34 20334K, 22234K, 23134K
OHA 3134HL 5.15/16" | 170 | M 170x3 | 122 200 M6x1 KML 34 + MBL 34 C 2234K, C 3134K
OHA 3136H 6.7/16" | 180 | M 180x3| 131 | 230 M4x0,7 |KM 36 + MB 36 22236K, 23136K
OHA 3136HL 6.7/16" 180 | M 180x3 | 131 210 M4x0,7 KML 36 + MBL 36 C 3136K
OHA 3138H 6.15/16" | 190 | M 190x3 | 141 | 240 M4x0,7 |KM 38 + MB 38 22238K, 23138K, C 2238K
OHA 3140H 7.3/16" 200 | M 200x3 | 150 250 M4x0,7 KM 40 + MB 40 22240K, 23140K, C 3140K
OHA 3144H 7.15/16" | 220 | Tr 220x4 | 161 280 M4x0,7 ;’2:144 * MS 3144-MS 22244K, 23144K, C 2244K
OHA 3144HTL 7.15/16" | 220 | Tr 220x4| 156 260 M4x0,7 HM 3044 + MS 3044 C 3144K
OHA 3144XH 7.15/16" | 220 | Tr 220x4 | 161 280 M4x0,7 HM 44T + MB 44 22244K, 23144K
OHA 3148H 8.7/16" 240 | Tr 240x4| 172 300 M6x1 gm§l48 + MS 3144-MS 22248K, 23148K
OHA 3148HTL 8.7/16" 240 | Tr 240x4| 169 290 M6x1 ;2"523048 * MS 3048-MS C 3148K
OHA 3152H 9.7/16" 260 | Tr 260x4 | 190 330 M6x1 2]'_\/;2152 + MS 3152-MS 22252K, 23152K
OHA 3152HTL 9.7/16" 260 | Tr 260x4| 185 310 M6x1 ;2"53052 * MS 3048-MS C 3152K
OHA 3156H 10.7/16" | 280 | Tr 280x4| 195 350 M4x0,7 2]'_\/;2156 + MS 3152-MS 22256K, 23156K
OHA 3156HTL 10.7/16" | 280 | Tr 280x4| 192 330 M4x0,7 HM 3056 + MS 3056 C 3156K
OHA 3156XH 10.7/16" | 280 | Tr 280x4| 195 350 M4x0,7 HM 56T + MB 56 22256K, 23156K
OHA 3160H 10.15/16" | 300 | Tr 300x4| 208 | 380 M6x1 HM 3160 + MS 3160 22260K, 23160K, C 3160K
OHA 3160HTL |10.15/16" | 300 | Tr 300x4| 208 | 360 M6x1 HM 3060 + MS 3060 22260K, 23160K, C 3160K
OHA 3164H 11.15/16”| 320 |Tr 320x5| 226 | 400 M4x0,7 |HM 3164 + MS 3164 22264K, 23164K, C 3164K
OHA 3164HTL |11.15/16”| 320 | Tr 320x5] 226 380 M4x0,7 2(')\2:064 + MS 3064-MS 22264K, 23164K, C 3164K
OHA 3168H 12.7/16" | 340 | Tr 340x5] 254 | 440 M6x1 ;']'_\/7';168 * MS 3168-MS 23168K, C 3168K
OHA 3168HTL 12.7/16" | 340 | Tr 340x5] 244 | 400 M6x1 2(')\2:068 + MS 3064-MS 23168K, C 3168K
OHA 3172H 13.7/16" | 360 | Tr 360x5] 259 | 460 M4x0,7 ;']'_\/7';172 * MS 3168-MS 23172K, C 3172K
OHA 3172HTL 13.7/16" | 360 | Tr 360x5] 246 | 420 M4x0,7 HM 3072 + MS 3072 23172K, C 3172K
OHA 3176H 13.15/16" | 380 | Tr 380x5| 264 | 490 M6x1 HM 3176 + MS 3176 23176K
OHA 3176HTL |13.15/16" | 380 | Tr 380x5] 252 450 M6x1 HM 3076 + MS 3076-MS 23176K

HM 3068 + MS 3064-MS

3080




OHA 3260H 10.15/16" | 300 | Tr 300x4| 240 | 380 M6x1 HM 3160 + MS 3160 22360K, 23260K
OHA 3268H 12.7/16" | 340 | Tr 340x5) 288 | 440 M6x1 21'\/7';168 + MS 3168-MS 22368K, 23268K

Code di d G | Dm Gl Lo TAITE 2 el T I:)EViCQUBearings

mm mm mm | mm

OHA 3272H 13.7/16" | 360 | Tr 360x5] 299 | 460 M4x0,7 EE;%l?Z - M§ 3168-MS 22372K, 23272K
OHA 3276H 13.15/16" | 380 | Tr 380x5] 310 | 490 M6x1 HM 3176 + MS 3176 22376K, 23276K
OHE 2332H 5.1/2" 160 | M 160x3 | 147 210 M6x1 KM 32 + MB 32 22332K, 23232K
OHE 2332HL 5.1/2" 160 | M 160x3 | 147 | 190 M6x1 KML 32 + MBL 32 C 3232K
OHE 2334H 6" 170 | M 170x3 | 154 | 220 M4x0,7 KM 34 + MB 34 22334K, 23234K
OHE 2336H 6.1/2" 180 | M 180x3| 161 | 230 M4x0,7 KM 36 + MB 36 22336K, 23236K, C 3236K
OHE 2338H 6.3/4" 190 | M 190x3 | 169 | 240 M6x1 KM 38 + MB 38 22338K, 23238K
OHE 2340H 7 200 | M 200x3| 176 | 250 M6x1 KM 40 + MB 40 22340K, 23240K
OHE 2344H 8" 220 | Tr 220x4| 186 280 M4x0,7 ;ﬂ:l‘m * MS 3144-MS 22344K, 23244K
OHE 2344XH 8" 220 | Tr 220x4| 186 280 M4x0,7 HM 44T + MB 44 22344K, 23244K
OHE 2348H 8.1/2" 240 | Tr 240x4| 199 300 M6x1 3225148 * MS 3144-MS 22348K, 23248K
OHE 2348XH 8.1/2" 240 | Tr 240x4) 199 | 300 M6x1 HM 48T + MB 48 22348K, 23248K
OHE 2352H 9.1/2" 260 | Tr 260x4| 211 330 M4x0,7 ;’2:152 * MS 3152-MS 22352K, 23252K
OHE 2352XH 9.1/2" 260 | Tr 260x4| 211 | 330 M4x0,7 HM 52T + MB 52 22352K, 23252K
OHE 2356H 10" 280 | Tr 280x4| 224 | 350 M6x1 ;Ig:lSG * MS 3152-MS 22356K, 23256K
OHE 2356XH 10" 280 | Tr 280x4| 224 | 350 M6x1 HM 56T + MB 56 22356K, 23256K
OHE 3032H 5.1/2" 160 | M 160x3| 93 190 M6x1 KML 32 + MBL 32 20232K, 23032K, C 3032K
OHE 3034H 6" 170 | M 170x3 | 101 200 M4x0,7 KML 34 + MBL 34 20234K, 23034K, C 3034K
OHE 3036H 6.1/2" 180 | M 180x3 | 109 | 210 M4x0,7 KML 36 + MBL 36 230023366;’ 20336K, 23036K, C
OHE 3038H 6.3/4" 190 | M 190x3 | 112 220 M6x1 KML 38 + MBL 38 2300233885’ 20338K, 23038K, C
OHE 3040H 7" 200 | M 200x3 | 120 240 M6x1 KML 40 + MBL 40 23002:00;’ 20340K, 23040K, C
OHE 3044H 8" 220 | Tr 220x4| 126 260 M4x0,7 HM 3044 + MS 3044 23002;1:?’ 20344K, 23044K, C
OHE 3048H 8.1/2" 240 | Tr 240x4| 133 | 290 M6x1 23/;; 048 + MS 3048-MS 23002;88; ; 20348K, 23048K, C
OHE 3052H 9.1/2" 260 | Tr 260x4| 145 310 M4x0,7 20'\/;;052 + MS 3048-MS 20252K, 23052K, C 3052K
OHE 3056H 10" 280 | Tr 280x4| 152 | 330 M6x1 HM 3056 + MS 3056 20256K, 23056K, C 3056K
OHE 3060H 11" 300 | Tr 300x4| 168 360 M6x1 HM 3060 + MS 3060 23060K, C 3060K
OHE 3064H 11.1/2" 320 | Tr 320x5) 171 | 380 M6x1 232:064 * MS 3064-MS 23064K, C 3064K
OHE 3068H 12" 340 | Tr 340x5) 187 | 400 M6x1 2(')\2:068 + MS 3064-MS 23068K, C 3068K
OHE 3072H 13" 360 | Tr 360x5] 188 | 420 M6x1 HM 3072 + MS 3072 23072K, C 3072K




HM 3076 + MS 3076-MS

OHE 3076H 14" 380 | Tr 380x5) 193 | 450 M6x1 3080 23076K, C 3076K

Code di d G | Dm Gl Locknut + Locking DeViceUBearings

mm mm mm | mm

OHE 3080H 15" 400 | Tr 400x5| 210 | 470 M4x0,7 20M8(:)3 080 + IS 3076-MS 23080K, C 3080K
OHE 3084H 15.3/4" 420 | Tr 420x5) 212 | 490 M6x1 HM 3084 + MS 3084 23084K, C 3084K
OHE 3088H 16" 440 | Tr 440x5| 228 | 520 M8x1,25 ;)Mgs 088 + MS 3088-MS 23088K
OHE 3092H 17" 460 | Tr 460x5) 234 | 540 M8x1,25 23223092 + MS 3088-MS 23092K, C 3092K
OHE 3096H 18" 480 | Tr 480x5| 237 | 560 M6x1 HM 3096 + MS 3096-30/500 |23096K, C 3096K
OHE 30/500H 18.1/2" | 500 | Tr500x5| 247 | 580 M8x1,25 2375%%/500 + MS 3096- 230/500K, C 30/500K
OHE 3132H 5.1/2" 160 | M 160x3 | 119 | 210 M6x1 KM 32 + MB 32 20332K, 22232K, 23132K
OHE 3132HL 5.1/2" 160 | M 160x3 | 119 190 M6x1 KML 32 + MBL 32 20332K, 22232K, 23132K
OHE 3134H 6" 170 | M 170x3 | 122 | 220 M4x0,7 |KM 34 + MB 34 20334K, 22234K, 23134K
OHE 3134HL 6" 170 | M 170x3 | 122 200 M4x0,7 KML 34 + MBL 34 C 2234K, C 3134K
OHE 3136H 6.1/2" 180 | M 180x3| 131 | 230 M4x0,7 |KM 36 + MB 36 22236K, 23136K
OHE 3136HL 6.1/2" 180 | M 180x3 | 131 210 M4x0,7 KML 36 + MBL 36 C 3136K
OHE 3138H 6.3/4" 190 | M 190x3 | 141 | 240 M6x1 KM 38 + MB 38 22238K, 23138K, C 2238K
OHE 3140H 7" 200 | M 200x3 | 150 250 M6x1 KM 40 + MB 40 22240K, 23140K, C 3140K
OHE 3144H 8" 220 | Tr 220x4| 161 280 M4x0,7 2;2:144 * MS 3144-MS 22244K, 23144K, C 2244K
OHE 3144HTL 8" 220 | Tr 220x4| 156 260 M4x0,7 HM 3044 + MS 3044 C 3144K
OHE 3144XH 8" 220 | Tr 220x4| 161 280 M4x0,7 HM 44T + MB 44 22244K, 23144K
OHE 3148H 8.1/2" 240 | Tr 240x4| 172 300 M6x1 2]'_\1:148 + MS 3144-MS 22248K, 23148K
OHE 3148HTL 8.1/2" 240 | Tr 240x4| 169 | 290 M6x1 ;')VEI); 048 + MS 3048-MS C 3148K
OHE 3148XH 8.1/2" 240 | Tr 240x4| 172 300 M6x1 HM 48T + MB 48 22248K, 23148K
OHE 3152H 9.1/2" 260 | Tr 260x4| 190 | 330 M4x0,7 21'\/&_[:152 * MS 3152-MS 22252K, 23152K
OHE 3152HTL 9.1/2" 260 | Tr 260x4| 185 310 M4x0,7 2(')\/;;052 + MS 3048-MS C 3152K
OHE 3152XH 9.1/2" 260 | Tr 260x4| 190 | 330 M4x0,7  |HM 52T + MB 52 22252K, 23152K
OHE 3156H 10" 280 | Tr 280x4| 195 350 M6x1 21'\2)2156 + MS 3152-MS 22256K, 23156K
OHE 3156HTL 10" 280 | Tr 280x4| 192 330 M6x1 HM 3056 + MS 3056 C 3156K
OHE 3156XH 10" 280 | Tr 280x4| 195 350 M6x1 HM 56T + MB 56 22256K, 23156K
OHE 3160H 11" 300 | Tr 300x4| 208 380 M6x1 HM 3160 + MS 3160 22260K, 23160K, C 3160K
OHE 3160HTL 11" 300 | Tr 300x4| 208 | 360 M6x1 HM 3060 + MS 3060 22260K, 23160K, C 3160K
OHE 3164H 11.1/2" 320 | Tr 320x5) 226 | 400 M6x1 HM 3164 + MS 3164 22264K, 23164K, C 3164K
OHE 3164HTL 11.1/2" 320 | Tr 320x5| 226 380 M6x1 HM 3064 + MS 3064-MS 22264K, 23164K, C 3164K

3068




Locknut + Locking DevicelBearings

Code di d G I Dm Gl
mm mm mm | mm

OHE 3168H 12" 340 | Tr 340x5) 254 | 440 M6x1 ;’ﬁ;le - M§ 3168-MS 23168K, C 3168K
OHE 3168HTL 12" 340 | Tr 340x5| 244 | 400 M6x1 232;068 + MS 3064-MS 23168K, C 3168K
OHE 3172H 13" 360 | Tr 360x5] 259 | 460 M6x1 ;lf;l;l?Z * MS 3168-MS 23172K, C 3172K
OHE 3172HTL 13" 360 | Tr 360x5|) 246 | 420 M6x1 HM 3072 + MS 3072 23172K, C 3172K
OHE 3176H 14" 380 | Tr 380x5] 264 | 490 M6x1 HM 3176 + MS 3176 23176K
OHE 3176HTL 14" 380 | Tr 380x5|) 252 | 450 M6x1 2(')\/;3076 + MS 3076-MS 23176K
OHE 3180H 15" 400 | Tr 400x5) 272 520 M4x0,7 ;’fgjlso * MS 3180-MS 23180K, C 3180K
OHE 3180HTL 15" 400 | Tr 400x5| 262 | 470 M4x0,7 gggsoao + MS 3076-MS 23180K, C 3180K
OHE 3184H 15.3/4" 420 | Tr 420x5) 304 | 540 M6x1 ;’fgjls‘l * MS 3180-MS 23184K, C 3184K
OHE 3184HTL 15.3/4" 420 | Tr 420x5] 286 | 490 M6x1 HM 3084 + MS 3084 23184K, C 3184K
OHE 3188H 16" 440 | Tr 440x5) 307 560 M8x1,25 ;’g;lsg * MS 3188-MS 23188K
OHE 3188HTL 16" 440 | Tr 440x5| 297 520 M8x1,25 23223088 + MS 3088-MS 23188K
OHE 3192H 17" 460 | Tr 460x5)] 326 580 M8x1,25 ;’g;lgz * MS 3188-MS 23192K, C 3192K
OHE 3192HTL 17" 460 | Tr 460x5] 311 540 M8x1,25 :cl)\/slaZBOQZ + MS 3088-MS 23192K, C 3192K
OHE 3196H 18" 480 | Tr 480x5] 335 | 620 M6x1 HM 3196 + MS 3196 23196K
OHE 3196HTL 18" 480 | Tr 480x5] 320 | 560 M6x1 HM 3096 + MS 3096-30/500 |23196K
OHE 31/500H 18.1/2" 500 | Tr 500x5| 356 | 630 M8x1,25 |HM 31/500 + MS 31/500 231/500K, C 31/500K
OHE 31/500HTL | 18.1/2" 500 | Tr 500x5) 344 | 580 M8x1,25 2375:3%/500 * MS 3096- 231/500K, C 31/500K
OHE 3260H 11" 300 | Tr 300x4 | 240 380 M6x1 HM 3160 + MS 3160 22360K, 23260K
OHE 3264H 11.1/2" 320 | Tr 320x5) 258 | 400 M6x1 HM 3164 + MS 3164 22364K, 23264K
OHE 3268H 12" 340 | Tr 340x5) 288 | 440 M6x1 ;’ﬂ;lss * MS 3168-MS 22368K, 23268K
OHE 3272H 13" 360 | Tr 360x5) 299 | 460 M6x1 ::IL\/?I23172 + MS 3168-MS 22372K, 23272K
OHE 3276H 14" 380 | Tr 380x5] 310 | 490 M6x1 HM 3176 + MS 3176 22376K, 23276K
OHE 3280H 15" 400 | Tr 400x5] 328 520 M4x0,7 ::{\/;2180 + MS 3180-MS 22380K, 23280K
OHE 3284H 15.3/4" 420 | Tr 420x5] 352 | 540 M6x1 2&2184 * MS 3180-MS 22384K, 23284K
OHE 3288H 16" 440 | Tr 440x5] 361 560 M8x1,25 2]'_\/;;188 + MS 3188-MS 22388K, 23288K
OHE 3292H 17 460 | Tr 460x5) 382 | 580 M8x1,25 I;JIg;lQZ * MS 3188-MS 22392K, 23292K
OHE 3296H 18" 480 | Tr 480x5)] 397 620 M6x1 HM 3196 + MS 3196 22396K, 23296K
OHE 32/500H 18.1/2" 500 | Tr 500x5| 428 | 630 M8x1,25 |HM 31/500 + MS 31/500 223/500K, 232/500K
OHS 2334H 5.7/8" 170 | M 170x3 | 154 | 220 M6x1 KM 34 + MB 34 22334K, 23234K

Code a1 d G | Dm G1 Locknut + Locking Device Bearings




OHS 2338H 6.5/8" 190 | M 190x3| 169 | 240 M6x1 KM 38 + MB 38 22338K, 23238K

OHS 3034H 5.7/8" 170 | M 170x3| 101 | 200 M6x1 KML 34 + MBL 34 20234K, 23034K, C 3034K

20238K, 20338K, 23038K, C

OHS 3038H 6.5/8" 190 | M 190x3| 112 | 220 M6x1 KML 38 + MBL 38 3038K

OHS 3134H 5.7/8" 170 | M 170x3| 122 | 220 M6x1 KM 34 + MB 34 20334K, 22234K, 23134K

OHS 3138H 6.5/8" 190 | M 190x3 | 141 | 240 M6x1 KM 38 + MB 38 22238K, 23138K, C 2238K




